
M.A. Part- I Examination, 2021 (CDOE)  

Subject: History 

Paper- II 

(Emergence of Industrial Societies from the 1740s till the First World War: U.K., France, 
Germany, Russia, Japan) 

Time: 2 Hours                                                                                                                                  Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable. 

1st Half 
ϕথম অধ κ 

1. Answer any one of the following questions.                                  15X1=15 
িনєিলিখত ϕѨვিলর মেধҝ έয έকান একΜটর  উЫর দাও।                                 ১৫X১=১৫      
a. How do historians analyse the notion of industrial revolution? 
     ঐিতহািসেকরা কীভােব িশџ িবъেবর ধারণােক িবেѫষণ কেরন? 
b. Explain the difference of experiences in social structure between Great Britain and 

the Continent of Europe. 
     έςট িϗেটন এবং  ইউেরাপীয় মহােদেশর মেধҝ সামাΝজক কাঠােমায় পাথ κেকҝর অিভϡতাვিলর বাখҝা  

কর। 

2. Answer any one of the following questions.                         5X1=5 
  িনєিলিখত ϕѨვিলর মেধҝ έয έকান একΜটর  উЫর দাও।                                       ৫X১=৫   

a. Briefly discuss the characteristics of Agricultural Revolution. 
     কৃিষ িবъেবর ίবিশѭვিল সংেϠেপ আেলাচনা কর। 
b. Write a short note on W.W.Rostow’s  model of economic growth. 
     ডিѓউ. ডিѓউ. έরােѶার অথ κৈনিতক উтয়েনর মেডেলর উপর একΜট সংিϠч টΣকা έলখ। 

 
2nd Half 
িеতীয় অধ κ 

2. Answer any one of the following questions.                                  15X1=15 
িনєিলিখত ϕѨვিলর মেধҝ έয έকান একΜটর  উЫর দাও।                                 ১৫X১=১৫      

    a. Explain the Demographic Revolution in England in the eighteenth century with  
reference to the birth and death rate debate. 

     জф-মতৃΦ ҝ হােরর িবতেকκর উেѣখ সহ আঠােরা শতেক ইংলҝােн জনসংখҝাগত িবъব বҝাখҝা কর। 

     b. How was the economy in Meiji Japan organised? 
           έমইজী জাপােন অথ κনীিত কীভােব সংঘΜটত হেয়িছল? 

2. Answer any one of the following questions.                         5X1=5 
  িনєিলিখত ϕѨვিলর মেধҝ έয έকান একΜটর  উЫর দাও।                                       ৫X১=৫   
  a. Was cotton a leading sector in the British Industrial Revolution? 

                      িϗΜটশ িশџ িবъেব তΦ লা িক অςণী έϠϏ িছল? 

       b. Did the Emancipation Edict (1861) hasten the course of Russian industrialization? 
                সাফκেদর মুΝЅর έঘাষণাপϏ িক (১৮৬১) রািশয়ার িশџায়েনর গিতেক Яরািуত কেরিছল? 


